
 

            

 

                                                                  2021 WORKSHEET 3 

                                                            NUMERACY YEAR 2 

                     Answer all the questions in your Mathematics Activity books. 

1.   Find the correct answer to complete the number sentence of each picture. 

          a.             
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2.   Find the correct answer of the following questions. 

          a.                                                                                                                 b. 

                    −                                                                                                         

 

 
                (1 mark)                                                                        (1 mark)                                    

3.   Write the correct answer in the given space.  

a.           

                          (1 mark)                                                                        (1 mark) 

                                                                                                      6 

           

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 3  7 

            5 

        

 8  8 

  6 

  

34 − 11 = ____ 

52 – 20 = ______ 

  −   

   5 +  9 =   _______   9 + 5 =  ________       

    (1 mark) 

    (1 mark) 


